AMEETAYHL T YRR—ILER

OFREH: 20145 98 23H XEEH OH&E4A: 38— Bk
O EFABEFEZI:  11:00 o= B: EHOBEBKEIS
ORSHTEX:  13:10 OXfE: Fh O A
F—1% 1Q 2Q 3Q 4Q TOTAL B
BEAZERKE 14 24 3 oM
BRIk K2 7 0 7 O 3
FafgiE
F—LB -5 B PLAY PLAYER(S) ¥—FK TFP PLAYER(S)  HIG/XHNG
Lisfeagead o 1 5:36 run #2154 5 K #1500 & G
BRIk K2 1 8:54 run #33% K 37 K #3374 K G
Lidfeagead 1 10:43 run #23F 12 K #1500 B G
Lkl 2 9:01 FG #1500 & 28 —
mEmElk 3 7:38 pass #12E B —#8[EE 40 K #150f, 2 G
F— LA TR FERKF BBk K
1.97—ART oY E# (5> —/8R— KA 18(183— 5— 0) 13(11— 0— 2)
2.8 RE B —HIo2—ET+ 18—10—0 19—9—-0
wev—r | 1a8vds | 28Yds
K E#H—-ERIVY—F 36 — 290Yds 33 — 207Yds
4E E#H—-ERFIVY—F 54 — 438Yds 52 — 235Yds
5. 8l E#H—EKVY—F 8 — 52Yds 3 — 15Yds
6. 777 )L E % —#" K 0—0 2—2
7.74—ILFI—)L B % — B LS 2—1 0—0
8. R— LT A K 20:58 27:02
9.3rd-down Conversion 612 614
10.4th-down Conversion 1.3 2/3




B A& AP

AIEET A)Hh TR —ILER

BN E (FAEFREXE)
® >
NO. £ Al Bl% Yards TD K Fiy
23 F B 14] 50] 1] 13] 36
21 FH ER 16| 206] 1] 45] 13
44 Hh X% 1] 4 of 4] 4
780 BA 1 4 o] 4] 4
1 Ak &hE 1 9 of 9 9
20 FE T 1] 19 o] 19] 19
22EREE 1l -1 o —1
100 TEAM il -1 o -1
® /\RX
NO. C2X:] Bk FTh 2—tYards TD HBXK FH
780 BA [ 3] 1 ol 4] o] 4] 13
2ENEE 4] o o] 144] 1] 40| 10
100 TEAM [ 1 of o] o] o 0
oL—D
NO. Z2X:1 B4k Yards TD A iy
8 [ E EfE T 5[ 73] 1] 40[ 15
44 Hef KE [ 2[ 46] o] 33] 23
1 &K 1&E [ 1 6] o 6 6
28 FBIG EBH [ 2] 23] of 18] 12
® VoA
NO. Z2X: 1] [E] %% Yards 2 3 4 5 10
[ 15 ME s T3] 174] 60] 61] 53]
® /\k
NO. Z2X: 1] [E] %% Yards 2 3 4 5 10
[ 15 mE $Rik [ 2] 271 2] 25] [
QX yIAT-1)3—>
NO. Z2X: 1] [l Yards TD 1 2 3 4 9 10
52 KB B T4 11 o 11
23 3 B [ 1] 20 of 20
@ Nk 1)F—Y
NO. £ I Bl¥kYards TD 1 2 3 4 9 10
23 F R 11 14] of 14
21 EH R 1] 3] of 3
® GBY vy
NO. Z2X:| [B] %4 Yards 2 3 4 5 10
[ 77TEKEX 1 4 4] I




B AR BBk KF

AIEET A)Hh TR —ILER

B ANEEE% (FRERKZR)
® >
NO. £ Al Bl Yards TD A Fi5
33 IR HA 4 40l 1] 37] 10
81 ;&0 IFIE 2] 3] o] 2] -2
28 BE M 19] 116] 0 27| 6.1
12 55H ¥ 6] 47| o] 25| 7.8
31 BlR X 1 71 o 71 7
25 xR 1% il ol o 0
® \X
NO. £ A El% BTh R—tYards TD HBX FH
[ 12 %@ FF [ 19 of of 28] o
oL—D
NO. Z2X:11 B4k Yards TD A iy
81 ;&0 IFIE [ 3] 8] of 4] 27
31 iR JEX [ 3] 15 of 9] 5
96 B X [ 2] 4] of 2] 2
28 B=E m{C [ 1 1 of 1 1
® VoA
NO. CA:I] B1# Yards 1 2 3 10
[ 33&/EK BA I 2] 95 44] 51|
® /\k
NO. CA:I] Bl Yards 1 2 3 10
EEE:Z PN [ 5] 174] 38| 43[ 26|
QX IAT-)3—>
NO. £ Al Bl Yards TD 1 2 9 10
25 K R 1% [ 1] 15] off 15
81 ;&0 IFIE [ 1] 18] o 18
31 BilR JEX [ 1] -1 ol -1
® GBY vy
NO. £ |l Bl%4 Yards 1 2 3 10

52 Ff A%
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1]l

1]




